N & o & AF & H Al A
20198 & =0llah LB & X
SN RREeD
M HE2G Y (KB =2
¢hel: L2 (RE & &) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
A2 &8t 21,752,319 21,391,270 361,049
= 240,000
Al 133,000
- 21,379,319
HE2AZH(ANE =& ) 6,527,679 6,727,873 A 200,194
AIHA2IHI (KR =& t) 6,486,229 6,684,401 A 198,172
QlHAIH(AHJ =2 1t) 6,486,229 6,684,401 A 198,172
101 124l 6,486,229 6,684,401 A 198,172
03 RIAHAZ2 B = 6,486,229 6,524,139 A 37,910
OsZ0l3H&A(84Y) 6,486,229
—Jlas 2,540,000& 84K x12& 2,560,320
— &2+ 1,485,000& x84 H »23| 249,480
S EEECE
24,6603 x25H «10A| 2t 128 73,980
— U2 8,220 x84 H 27U x 128 223,716
—52Z2fxE 98,6403 x84 x90! 745,719
S PNES =R =y 131,520& 84 H 10 110,477
—S=gf*e 90,0003 *x84H 128 90,720
—HNg¥A+E 70,0003 x84H «12& 70,560
—JE=E 54,720
bH < Xt 40,0003 ~66H «128 31,680
A EH = 20,0003 x96H x12& 23,040
—AESHIEX Y 37,464
nssu 468,300& x20H x4 3| 37,464
— M Z A 160,000& 84 H »12& 161,280
—HAHEXZ 110,000& x84 H » 12& 110,880
— ZE SO 1,782,000 *84H x23] 299,376
—=2g 75,0003 x84H «12& 75,600
—Rii=< 126,000 x84 » 12& 127,008
—A22E 60,012,300 *84H x3.4% 171,396
— =033 60,012,300 *84H x4 . 5% 226,847
—1E2E 60,012,300 *84H x1.5% 75,616
—&MHEE 60,012,300& x84 x1. 1% 55,452
— &&= 164,660,696 & 2H 329,322
—EAS(SLF)
5,442 ,370& x6ZE 10 150/ 100 489,814
—S¥¢= 5,500 23| x10H 258 128 33,000
— &2l 3,363,000& 32 10,089
—SEIZ2A M2 XZ4
3,000,000& »84H x3% 7,560
— YRy 24 ¢ 2E =4
3,363,000& %20% 673
—sxg 29l 1,000,000& »12& 12,000




N = 0l & At & Ml A

20199 &= =0 & LS &F

AN A=
HE: HY2IFH (A=)
el lE2HH (=) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- 2249 g Jlgs ¢ 30,000 *84H 2,520
—dslaz X3 44,520
S ABDI(Z2W AHAIE)
400,000& *84H 13 33,600
Bl (h FEBA )
130,000 x84 13l 10,920
— 820l I= 36,120
A= (EF,01,52) 150,000& x84 H 12,600
SHEZY, X ¥ HPSH(2SE
80,0003 x84H 6,720
9, H3t 50,0003 x84H 4,200
LSS (HH, YE2 X, S ehE 2, g5t
150,000& x84 H 12,600
Jledul (R a=2t) 41,450 43,472 N2,022
Jl2dHl (X2 &=a) 41,450 43,472 A2,022
201 £B-2dH| 22,910 24,452 A 1,542
01 At 22l 22,910 24,452 N 1,542
ORAM2gLe=3Hl 9,766,000 x95% 9,278
OJlege=d8dE20 A 13,632
— 2y 8,000 x 128 63| x 128 6,912
- X3z 8,000& x5 x143| 128 6,720
202 04 Hl 15,120 15,600 A 480
01 = LH 4 Hi 15,120 15,600 A 480
OJlege+=d=&80tl 90,000 x14H «12& 15,120
203 R =&l 3,420 3,420 0
04 FN2ELRZ=TH| 3,420 3,420 0
ORM2IYRFLH 300,000& *12& x95% 3,420
JHRStD hEs BSEA =4 14,789,484 14,131,765 657,719
= 240,000
Al 120,000
T 14,429,484
SEFHAXNA FH L a8 N 9,627,237 9,567,716 59,521
= 240,000
Al 120,000
T 9,267,237
BFFHAXA FHl 152,598 312,186 A 159,588
201 Yet2 | 6,874 11,524 A 4,650
01 At 22l 6,874 11,524 A 4,650
Oget=&H| 6,874
—SI3FHAXNS #FFH 2= WA
2,000,000& 2,000
—SZFHAXA MY Il HHE SA7E &
K& 330,000 =504 A 1,650




AN A=
M JiRot] HEE HSEA =4
Sel: BAFANY Yl L HAHE FOH (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—FA¥A W NJ 22 P (2SO0l
A S) 250,000 83 2,000
—deE EEFMYUI =HEH L XX
g Sd= 20,4003 «1CH+60 1,224
203 YR =&t 2,850 3,800 A 950
03 AIMF=XH R =AH| 2,850 3,800 A 950
OMEMY I Al F& 1,000,000& *95% 950
oMl HeaE iz = 1,000,000& *95% 950
OFAEE g2 =& 1,000,000& «95% 950
307 glz2t0l & 109,280 203,880 A 94,600
05 RIZt2E = 109,280 203,880 A 94,600
O28 &I Madl =HHel 70,400,000 70,400
OLHEHHIIS(HEA) =AMl
3,240,000& x12& 38,880
401 AIEHI L 2 CHYI 26,864 86,252 A 59,388
01 A& HI 26,864 86,252 A 59,388
Ot HAXNY 2 EE st 2L &
92,000& *73H x4 3] 26,864
405 TtakF S| 6,730 6,730 0
01 AL EFH S 6,730 6,730 0
OZ0lE 2382 Hel W XH21s &X
611,800 » 114 6,730
lscze 29X & 8,000 8,000 0
307 glz2+ol & 8,000 8,000 0
05 RIZt2IE = 8,000 8,000 0
OFAgHM Jls=ZE 294 8,000,000 8,000
L 3AXE KA 2l 290,710 291,310 A 600
201 2Bt Ayl 290,710 291,310 600
01 At 2teltl 4,587 4,587 0
O Eet==EH| 4,587
—ABHLNH(EALY) SHE
12,6003 201 x 182 4,587
02 =224l 286,123 286,723 A 600
03323 2 HA 7,800
—&x=E AEE 4,800
CHEATE S (4T AER
) 400,000& 123 4,800
— 28 AZEFLEH BER 3,000,000& 3,000
O XHE & Bl 274,000
— sl 274,000
L8t S HE 7A 22l
5,000,000% »2CH 10,000




EXN: =&
MM JHROID WEE HEZA =4
Sel: BAFANY Yl L HAHE FOH (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
- X 24| 12,000,000 x12& 144,000
cCHAEAMAXE S22l
10,000,000 x12& 120,000
OA & Z&H KX 4,323
— A8 XNZ2FAEY ARE 22 (HHEH,
B84 S) 4,323,000 4,323
T2 MHIASHX M2PAY 480,000 720,000 A 240,000
= 240,000
Al 120,000
- 120,000
405 XH&HF S HI 480,000 720,000 A 240,000
= 240,000
Al 120,000
- 120,000
01 XML 2 FF S| 480,000 720,000 A 240,000
OE=Z THIAHX HAH FAXNE 2
240,000,000& *2CH 480,000
2 240,000
Al 120,000
- 120,000
MEHIIS Ml 6,162,359 5,689,035 473,324
201 et d| 840 3,100 A2,260
01 AFR 2t 2| H| 840 3,100 N2,260
OMEHIIS (HHAM HIOIY 4G
70,000& *4H *33] 840
207 &I & 10,000 20,000 A 10,000
01 24| 10,000 20,000 A 10,000
OMEMHIIZE HELLH ZEIt 29
10,000,000 10,000
307 QI2t0| ™ 4,557,759 5,665,935 AN 1,108,176
05 QIZtREZ 4 557,759 5,665,935 A 1,108,176
OFAL A== 2(MEMY D)
284,827,490 x12& 3,417,930
OWEHIIES Helbl 20,843,513& x12& 250,123
OHgHdE £=X5F Heldl 42 276,754 x12& 507,322
OX&dE & AHAEHIIS XMlh]
18,018,240 x12& 216,219
OMEHIIS Ml sz & T2 (9,828
) 1,441,112 x12& 17,294
Oga 2as=2 L SEAMM ™l
78,470,200 78,471
QUMK SASH S (ZIHMAUD S) =H
xi el dl 352,000 x200& 70,400
308 XXIGHH SO0l & 1,593,760 0 1,593,760
10 B 2SO USE AN E AISH 1,278,833 0 1,278,833




AN A=
M JiRot] HEE HSEA =4
Sel: BAFANY Yl L HAHE FOH (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMEHIIE ez 106,226,545 128 1,274,719
OUEHII= =3XHeltl 342,800 128 4,114
1MIJIEtRES 314,927 0 314,927
OMeHIIEHe 2E3 314,926, 710& 314,927
Mol BEH =& 329,696 353,478 N23,782
201 Let24E] 8,842 9,842 21,000
01 At 22l 3,300 4,300 A 1,000
Oget=&H| 3,300
—MBHIISHe 2 222 MA
3,000,000& 3,000
—SEHN=E SHNDNAM S 300,000& 300
02 =224l 5,542 5,542 0
OAIE ZHI S X 2,742
—SEN=F SFMLE S 24|
228,500 128 2,742
OSgHN=eE 22&810 IMEE=
2,800,000 2,800
206 = Hl 307,170 293,670 13,500
01 MHZ 4l 307,170 293,670 13,500
SEHNSE M (L, AEAH 22 HIRE
| X&) 96.6%& *3,000, 0000H 289,800
O33&=5 HMZ=(50L, 100L)
172.12& =80, 0000H 13,770
OZENSE AS0A(2EIA) HE
3,600,000& 3,600
308 XtXIEHH SO0l A 13,684 13,146 538
10 I 2 SOICHEtE & & 2 & A I 13,684 13,146 538
OSHNSE SsUHAAMS 13,684,000& 13,684
Mol fHEI| &= 67,321 64,042 3,279
201 Let24d] 12,321 9,042 3,279
01 At 22/l 6,111 5,442 669
Ogt=&H| 6,111
— Mg REHEI L 2E 222 WH
2,000,000& 2,000
— Mg SEHEI] BHES SHMIXNAN 7
200,000& 200
-~ 2% 2 WM SIS 248
3,000& x50A 150
— Mg REHEI AT M
50,000& 304 1,500
— Mg REHEI 22X =2 WA
60,0002 *300H 2 1,800
— Mg RHSI| 2S5 2 HME IFE S
H= ,400& +63| 128 461




1U=Ypa]

>

B =

G
R5D HEE YE
AN FH L

O 0x

o M
[

=
=

SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
02 =224l 6,210 3,600 2,610
03322 % HA 6,210
— oty A=RE= 300,000& x124+12& 3,600
—ADE ©5FH SHE
60,0003 30 122 2,160
— AQIE S£EH AZE (AMEX S)
450,000& =14 Xt 450
301 gtEd= 1,000 1,000 0
1224 = 1,000 1,000 0
OMY I REHEI &1 EZ&Z 50,0003 *20H 1,000
401 A& HIZ 201 8] 54,000 54,000 0
01 A& HI 54,000 54,000 0
oMl RHE A& CCTV & Xl 54,000
— Mg SHEI ZAIE CCTV &l &X
7,000,000& =74 2~ 49,000
— Mgl SHEI ZAIE CCTV 0l X
1,000,000 *5H A~ 5,000
S22 0lstd 22l 146,347 119,670 26,677
201 et 111,387 82,870 28,517
01 At 22l 92,447 63,735 28,712
O+t 86,447
~ #2038 BABE 7 77,247
el =& 25,0003 *x84H 15 31,500
F2(HE2 2EFL)
5003 x84 x12Z ¢l 123 6,048
FL(2HDEE2)
1,200 x84H +2A &i| x 128 2,420
- oA 6503 x84 40 128 2,621
EAH(EZX)0IAR
2,000 «84H 1501« 12& 30,240
Qe 2T 12,000 x84 H 1,008
C2HEALE M=HM(25) 8,000& *400E 3,200
H=E=M 220 70,000 *3CH 210
— =X =cld 2,000,000& 2,000
— 2203t 29 22FH
50,0003 * 1204 &+ 12 7,200
Oo=24d=+¢ 5,700
— &30l Ar=g
100,000 »4H 23] 800
— &30l OI™ M ZHAHIE
600, 000& *23] 1,200
— &30l MM (HBEEE)
100,000 »5H 23] 1,000




SN KRS E D
MM JHROID WEE HEZA =4
el BEHANA HY U BAES CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
— 224U PSS XN
300,000 x1CH *x23] 600
— 032 nNs A2 300,000 x 1 43| 1,200
—0lgensg |10= 50,000& *1H *4 3| 200
— S AL ANg2HE =37 Y NS
ANES 200,000 *23| 400
— 820 HEH (MRS & HEEY)
100,000& *33] 300
O&td0lste 2K 2200 M
150,000& »2H 300
02 =224 H| 18,940 19,135 A 195
OZ2222 ¥ HMA 12,240
— 3013 SAHA 222 2(HIIA)
70,000 x 120 A« 12 10,080
— P05 2FI| ZBRI(SM23)
60,000 «3CH ~12& 2,160
O 2| 3,900
— &AL ESHA ety
1,000& »13CH *3 Al 2-*100L 3,900
OA&E &Y KXY 2,800
—&8E0Isd FHA RANES
200,000 =100 A&~ 2,000
— 403t EEZ2 #E0o28 N2 UMD &
PR 500,000& 500
— B AE0I3Y 2&I| =2 ¥ 22|
100,000 =3 CH 300
202 04| 2,660 800 1,860
01 2Ll 2,660 800 1,860
QAN AHANE(h =) o350
130,000& *1H %23| 260
QAN AHANE(F =) oS50
400,000 x3Y x23| 2,400
303 Z& 2 3,750 7,500 N 3,750
01 LAZ 3,750 7,500 AN 3,750
OEI&AX ZTMN(EMAE 5) 3,750
— 10¥ O] &t 250,000 x5=+1H 1,250
— 208 Ol & 250,000 x10=+1H 2,500
401 AlEHIZ 2 0HY| 5,000 13,500 A 8,500
01 Al& H| 5,000 13,500 A 8,500
QAN SHA SHIHHZAH(HOIS, Al
£5) 2,500,000 *2JH 2 5,000
405 XHAHFEIEHI 23,550 15,000 8,550
01 XA 2B F S| 23,550 15,000 8,550
O=tZ0Isa g =X #¢ 650,000 *30CH 19,500




AN A=
M JiRot] HEE HSEA =4
Sel: BAFANY Yl L HAHE FOH (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=xt(2d) 2¢ 300,000& = 10CH 3,000
Ooul=2 #+¢ 350, 0002 *3H 1,050
Z2eoteA &X 148,564 155,152 A6,588
201 Let249] 63,564 56,152 7,412
01 At 22l 18,400 18,400 0
Oger==EH| 18,400
- 22 7Y 50,000 *2900 & =12 17,400
—E22 ME(MHX, 820 888 5)
1,000,000 1,000
02 =24l 45,164 37,752 7,412
Oz22= & HA 4,164
—oEY Y sS4 ABE
30,0002 9 A +12& 3,240
—&dIANEBZ 7,000 *1100 A+ 128 924
OA& &8l ®Xldl| 41,000
— 2EGIRA AIEE2 sX&2dl
3,000,000& 3,000
— 28oRA AEE & FH T2 A AAH
2,000,000& x193] 38,000
401 A& HIZ 201 Y| 85,000 99,000 A 14,000
01 A& HI 85,000 99,000 A 14,000
Oty SedteA 4AX 13,000,000 *5J4 A& 65,000
Osdaotea 2 4,000,000 *5H 2~ 20,000
HES=EAN Y B0E 2 T2FE L 1,841,642 1,588,246 253,396
307 21201 A 1,841,642 1,588,246 253,396
05 RIZt2lEt = 1,841,642 1,588,246 253,396
OgBotsxAl, B0l g3 2L | 2
I 1,841,642,000& 1,841,642
HIIS At Z 2tel 830 910 A 80
HII2 AHHE X &E 830 910 A80
201 L2l 830 910 A80
01 At 22l 330 550 A 220
Oget=EH| 330
—HIIS4& Z Al 27,500& x123] 330
02 2324l 500 360 140
Oz3&82= & HA 300
— ESZ2ACAAE Salbl 25,0003 «12& 300
OgtZd el A" X2t 200,000& 200
Hol2 23 & N3 =i 5,161,417 4,563, 139 598,278
SASF HIIS 2el 3,042,669 2,569,457 473,212




THRotD HEE HSEA =4
Hol2 st & N3 =i (SH9: &)
5 - 4
SA - BB B (BA) - MM - BHES e HmEET
201 Le-2d| 97,456 27,950
01 At 22l 1,560 0
O e8| 1,000
—SAZ2E HIIS 22thEs & 28 2 =
22 M 1,000, 000& 1,000
ozg=¢ 560
—SASF HII= LA HOt &3 &
A= 70,0003 x8H « 13| 560
02 =224l 95,896 27,950
ORFIDZZ 1Dl S4 MEZ 9,447,900 9,448
OAl&ZEHl s X bl 86,448
—RFIDIIE JHEAHEEHE FX L2+t
14,5003 = 182CH 122 31,668
—SAE2R HIIE AE+=HS8I(120L) M A
et = 5,500& 83001 x123] 54,780
206 = Hl 79,662 2,012
01 =8l 79,662 2,012
OENZ s 2 12,012,000 12,012
OHd=REE =AHEJ 7¢ 13,214,000& 13,214
OSAMER HII2 83885 MI(2X& HiRE
gl mZ&h) 30.33& *410,0000H 12,436
OSAER HII=2 ERE3S M
28 1,500, 0000H 42,000
307 21201 A 2,595,657 208, 158
05 RIZt2IEt = 2,595,657 208, 158
OSA2E HIIZ +E28 Hg+22
130,848,212& 128 1,570,179
OSAMEF HJIZ Ml W2
83,806,474& x12& 1,005,678
OgGSERNG SAM=F HII2 Tdz & S
L= 1,650,000 =123 19,800
308 XXIEHHSOIA 193,894 159,092
07 IXNSHH2AURE = 36,851 2,049
OSAEF HII= Ml Jtets
3,070,880& x12& 36,851
10 SII 2SOl CHetE & & 2 & AF I 157,043 157,043
O&3c, 8k SA=SF HII=Z Ml ===
13,086,900& »12& 157,043
405 TtabF S| 76,000 76,000
01 et ESFHSHI 76,000 76,000
O = 227 5,500,000 =4CH 22,000
OSAgMIl ZSZH =HEII(RFIDYA) +
2 2,000,000& =27 CH 54,000
Meg HOle MRS 2,118,748 125,066
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n0
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Hl w
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N96,476

AN96,476

6,000
6,000
350
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N96,476

N6,826
AN6,826

H3r
Wikd
RIS

531,632

1,980
1,980
1,980
1,980

529,652

529,652
79,860
79,860
25,200
25,200

328,592
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Off &t 24

13,000
13,000
13,000

396,032

435,156
13,000
422,156
1,980
1,980
1,980
1,980

Al

1,980

433,176

13,000
900
48,960

420,176
13,000

420,176
85,860
13,000
72,860
85,860
49,860
10,000
26,000
13,000
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Al
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